Man-Hours and Bidding Projects:  
Oven Assembly

This activity is to accompany the unit “Time is Money.”
Name: _____________________




      Date: ____________

Scenario. A local factory currently assembles 160 ovens per day.   The factory can sell each oven for $300.  Profit per oven is $40. The 15 workers are paid $14 per hour, one 8 hour shift per day, 5 days a week, 50 weeks per year.  The factory is looking into buying new tools for $125,000 that will reduce the time it takes to assemble each oven by 5 minutes.  The tools have a 2 year useful life.
1.  How many man hours do 15 workers put together in one day?

2.  On average, how many man-hours does it take to assemble one oven?
3.  Over the 2 year period, how much will be saved in labor costs to make the same number of ovens?   Will the tools be worth the purchase?
4.  What would be the earnings of one worker per year?
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Scenario. A local factory currently assembles 160 ovens per day.   The factory can sell each oven for $300.  Profit per oven is $40.  Their 15 laborers are paid $14 per hour, one 8 hour shift per day, 5 days a week, 50 weeks per year.  The factory is looking into buying new tools for $125,000 that will reduce the time it takes to assemble each oven by 5 minutes.  The tools have a 2 year useful life.

1.  How many man hours do 15 workers put together in one day?

15 workers x ( 8 hr/worker ) = 120 hr
2.  On average, how many man-hours does it take to assemble one oven?

(120 man-hour/day) / (160 ovens/day) =  0.75 man-hours/oven
3.  Over the 2 year period, how much will be saved in labor costs to make the same number of ovens? Will the tools be worth the purchase?  

2 yr x (50 wk/yr) x (5 day/wk) x (160 ovens/day) x (5 min/oven) = 400,000 min
400,000min x (1 hr/60min) x ($14/hr) x 15 = $1,400,000
$1.400,000 > $125,000, so yes.
4.  What would be the earnings of one worker per year?
($14/hr) x (8 hr/day) x (5 day/wk) x (50wk/yr) = $28,000
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